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PAPER-II
INDIAN CULTURE
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Time : 1/, hours]

OMR Sheet NO. © cooooiiiiiiiieeeeeeeee e
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)
Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
4. Eachitem has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example:  CAD ® >

where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.

10.
11.

12.
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INDIAN CULTURE
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

1.  Heliodorus is known from 8.  Match List-I with List-II and select
(A) Coins the correct answer from the codes
(B) Vidisa pillar inscription given below the lists :
(C)  Seals _ List - I List — IT
(D) Harsha-charita (Women) (Period)

2. The Hathigumpha Inscription of (a) Dancing girl (i) Vedic Age
Kharavela is discovered from (b) Apala (i) Upanishdic
(A) Karnataka period
(B) Ori(si;a e (c) Gargi (iii) Mohenjodaro
(C) Madhya Prades . . )
(D) Chattisgarh (d) Mahaprajapati  (iv) Buc_ldhlst

period

3.  Which inscription of Ashoka Codes :
mentions the Kalinga War ? @ ® @© @
(A) Rock Edict XIII (A) (@1 (@Gv) (@) (i)
(B) Rock Edict II @) @) Gi)  (v) (i)

(C) Rock Edict XII

(D) Pillar Edict VII © i) @ G 3Gv)
D) @(v) (i) @i @)

4. Who issued the coins depicting the

Buddha ? 9. Match List-I with List-II and select

(A) Ashoka the correct answer from the codes

(B) Harsha given below the lists :

(C)  Kanishkal List — 1 List - II

(D) Dharmapala (Official/ (Relation)
5. The metals which were not used by Institution)

the Harappans : (a) Senani (i) Chief Queen

(A) Gold (B) Copper (b) Gramini (i1) Folk-

(C) Silver (D) Iron assembly

) ] (c) Mabhishi (111) Commander-

6. The site from where the fire altars in- chief

are discovered : ) . .

(A) Chanhudaro (d) Vidatha (iv) Village-head

(B) Kalibangan Codes :

(C) Harappa @ M () (@

(D) Mohenjodaro (A) (i) (@) @Gy @Gv)

7.  The Great Bath was excavated at (E) (.i.i.) (.i) (i.V) (i.i.i)
(A) Mohenjodaro (B) Harappa © (1_11) (l_‘_/) (l) (1_1)
(C) Dholavira (D) Lothal (D) Gv) G 3G (@)
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10.

11.

12.

13.

14.

15.

16.

Which of the following scholars say
that ‘Pap and Bhakti’ are not the
vedic concepts ?

(A) D.D. Kosambi

(B) K.M. Munshi

(C) G.C. Pande

(D) R.C. Majumdar

The Sabha and Samiti are mentioned
as the two daughters of Prajapati in

(A) Rig Veda

(B) Mahabharata

(C) Atharvaveda

(D) Satapatha Brahmana

The Ashoka pillars are carved from
the stone of
(A) Ujjaiyini
(C) Vidisa

(B) Chunar
(D) Makrana

When was the Mathura School of
Art originated ?

(A) The Satavahana Period
(B) The Mauryan Period
(C) The Gupta Period

(D) The Kushana Period

The Sangam Age is related to
(A) The Malayalam Literature
(B) The Tamil Literature

(C) The Telugu Literature

(D) The Kannada Literature

The first evidence of Sati comes
from

(A) Udaigiri
(C) Mandasor

(B) Eran
(D) Bhitari

The Mitakshara commentary on
Yajnavalkya Smriti was written by
(A) Kulluka

(B) Vishvarupa

(C) Asahaya

(D) Vijnaneshvara

17.

I-tsing, the Chinese traveller says
that Maharaja Sri Gupta built a
temple for the Chinese priests, at

(A) Gandhara

(B) Mathura

(C) Mrigashikhavana
(D) Taxila

Match List-I with List-II and select
the correct answer from the codes
given below the lists :

List -1

(Queen)
(a) Kumaradevi
(b) Prabhavati-

List — 11
(King)
(1) Rudrasena II
(i1) Chandra-

gupta gupta II
(¢) Duttadevi (i11) Chandra-
gupta |
(d) Kubernaga (iv) Samudra-
gupta

Codes :
@ G @© (@
(A) (@) GaGv) @) (D)
B) @) @) @Gv) (@)
© Gv) @@ (@ i)
D) @O G Gy @Gv)
Match List-I with List-II and select

the correct answer from the codes
given below the lists :

List -1 List - I1
(Place) (Famous for)
(a) Ajanta (1) Sculpture
(b) Mathura  (ii) Kailash temple
(c) Ellora (i11) Painting
(d) Sanchi (iv) Stupa
Codes :

(@ (b)) (© (@
A Gv) () @) @)
B) @ @) () (@Gv)
© @) @O G @v)
D ) Gv) @O (i)
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: I 3R A 3 Fei T W SR A
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15. St o1 eI e e o et € 2 (b) T (i) o afeg
(A) SR (B) W () T (iif) Femrepe
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Torareh g foret 7€ ot 2 @ ® © @
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(C) 3w © @y @@ G (@v)
(D) FrmTR D) () Gv) G (i)
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20. Which of the following temples is 25. Which of the following is not the
related to the Vessara style of temple centre of pilgrimage ?
architecture ? (A) Prayaga (B) Varanasi
(A) Kailashnath Temple at (C) Kanchi (D) Kanauj
Kanchipuram
(B) Lingaraja Temple at 26. Given below are two statements, one
Bhuvanesvara labelled as Assertion (A) and the
(C) Lad Khan Temple at Aihole other labelled as Reason (R) :
(D) Kandariya Mahadeva Temple Assertion (A) : At the‘ time Of‘ the
at Khajuraho entry of women in Buddhism,
the Buddha prescribed a moral
21. Match List — I with List — II and code for them.
select the correct answer from the Reason (R) : It was considered
codes given below the lists : necessary for developing their
List -1 List — II independent status.
(Author) (Work) In the context ‘of the above two
(a) Kamandaka (i) Panchatantra ?tz;'{emgnts: Whlc{l? one of the
. .. . . ollowing is correct ?
®) \S]E;Irrrl:lla (if) Brihatsamhita (A) Both (A) and (R) are trl}e and
(¢) Varahamihira (iii)Kitab-ul-Hind Eii is the true explanation of
(d) Al-beruni (iv) Niti-Sara (B) Both (A) and (R) are true, and
Codes : (R) is not the correct
@ G (© @ explanation of (A).
A G @ Gv) (i) (C) (A)is true, but (R) is false.
B) Gv) @ G (i) (D) (A) is false, but (R) is true.
© @) @G @ @(4v)
D) @ (1) (i)  (@[v) 27. Given below are two statements, one

22.

Of the following writers, who stated
that the Vaisyas and the Sudras lived
together ?

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Tantrism influenced
the temple architecture of

(A) Sulaiman (B) Hiuen-tsang Early Medieval India.
(C) Al-beruni (D) I-tsing Reason (R) : It was the common
feature of Early Medieval
23. Who has made the statement that architecture.

24.

slavery did not exist in India ?
(A) Fa-hien (B) Hiuen-tsang
(C) [I-tsing (D) Megasthenes

Which of the following is related to

the Indian Feudalism ?

(A) Land grants

(B) Immobility of peasants and
artisans

(C) Decline of trade

(D) All the above

In the context of the above two
statements, which one of the
following is correct ?

(A) Both (A) and (R) are true and
(R) is the true explanation of
(A).

(B) Both (A) and (R) are true, and
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.
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22,

23.

24,
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(c) BT (iii) ferere-sor-fég
(d) TA-sAT (iv) TfTER
ETE

(@ (b © (@
A) aG) @ (Gv) (i)
B) aGv) @O @G (i)
©) @) @) @ (@{v)
O ©O G () (@Gv)

fifond Tieent § | fora et ¢ T avg
3R 75 W1 e € 2

(A) oA

(B) T

(C) 3FA-s&A

(D) zfeam

I fohdep 99 ¢ Th 9RT | I Wl
BISCER

(A) TEHA

(B) &A-gim

(C) k&

(D) TR

fr=ifrd & @ TF@ dF @1 9RAE
=TS o T Gy § 2

(A) e

(B) e 3R ToTeuehRi b fRere
(C) AR &l Y=

(D) SwIE wHt

25.

26.

27.

T=iferd & @ i 1 At e € 2
(A) WA

(B) @RoTEr

(C) i

(D) ST

e 3 e 53 T €, T R SR

(A) 3R g& 1 ek (R) o1 A fgan &

P (A) : i g9 § &t & weer
% T W 5 A 3 o1 3TER-
Hfear Feifea =t |

@ (R) : Ie 3! o= feafq fasiaa
FH & o1 TEvIS U T
or |

SRR 3 T o g, Feited § @

FIT AT E ?

(A) (A) @R (R) T & € 3R (R),
(A) T T TR |

(B) (A) 3R (R) 3F & & W
(R), (A) =1 T&! TR0 T & |

(C) (A)TFTE, R (R) ITAE |

(D) (A) e, R (R) F 2 |

e 31 e T T €, Uh I SR

(A) 3R W 1 e (R) &1 f5ar 8

ywe (A) : TR HFE IRA
AR AR W TR I
TAE TSI & |

T (R) : URITTR T aReehell &
g I forersar ot |

ST S AT o G H, F=itha H 9

I AT L& ?

(A) (A) 3R (R) 3HI & € 3R (R),
(A) =T TE TEHTE |

(B) (A) 3R (R) T & & T
(R), (A) & Hel T T8 ¢ |

(C) (A) & &, T (R) A& |
) (A) T E, W] (R) T & |
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28. Given below are two statements, one 30. Given below are two statements, one
labelled as Assertion (A) and the labelled as Assertion (A) and the
other labelled as Reason (R) : other labelled as Reason (R) :
Assertion (A) : Some women were Assertion (A) : Al-Beruni translated

known for their scholarship several Sanskrit treatises on
during the Vedic period. Astronomy and Mathematics.
Reason (R) : This was because Reason (R) : He travelled to
they asserted their rights. Kashi to gain access to
Sanskrit works dealing with
In the context of the above two .
statements, which one of the Astronomy and Mathematics.
following is correct ? In the context of the above two
tat ts, hich f th
(A) Both (A) and (R) are true and - em‘en S. whieh ofe o ©
. . following is correct ?
(R) is the true explanation of
(A). (A) Both (A) and (R) are true and
(R) is the correct explanation
(B) Both (A) and (R) are true, and of (A)
(R) is not the correct '
explanation of (A). (B) Both (A) and (R) are true, and
) ) (R) is not the correct
(C©) (A)istrue, but (R) is false. explanation of (A).
(D) (A)is false, but (R) is true. (C) (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.

29. Given below are two statements, one L )
labelled as Assertion (A) and the 31. Ip the civil construction the use (_’f
other labelled as Reason (R) : hmfe and mortar bggan to be used in

India after the coming of
Assertion (A) : Ashoka established (A) Aryans (B) Huns
hospitals for men and animals. (C) Turks (D) Mughals
Reason (R) : He wanted to ) ) ) )
establish a welfare state. 32. In Sufi terminology wilayat is meant
as
In the context of the above two (A) Spiritual territory
statem.ents., which one of the (B) Political territory
following is correct ? (C) Foreign territory
(A) Both (A) and (R) are true and (D)  Domestic territory
(R) is the true explanation of ) ) o
(A). 33. Which of the following pair is not
correctly matched ?
(B) Both (A) and (R) are true, and
(R) is not the correct (Aqthor) (‘Work‘)
explanation of (A). (A) Shaikh Qutban - Mrigavati
O (A but (R) is fal (B) Manjhan - Madhumalti
(©) (A)is true, but (R) is false. (C) Kesav Das - Ramchandrika
(A) is false, but (R) is true. (D) Nand Das - Dhyan Manjari
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ot et fag & fod wies AT fFT & |
of | T (R) : 3T @CRIRT 3R T §
% (R) : U@ Taferd o e S ety &hd i FHicTt T &
3T IR i TR=IGE Fel | Waﬂ?ﬁaﬁwaﬁ L
. . . ST I FHAT o G H, FiTRd 7 9
S = e e A, e 4 IV
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(A) 1 T8 TR E | (B) (A) 3R (R) THi & & W
. : (R), (A) T TET TIEHT Tel & |
®) (&) @) :Fq i W (C) (A)TFTE, W (R) ITAE |
®), (&) 71t e (D) (A) 3\, ’<g (R) TAF |
(C) (A)TFE, R (R) ITAE |
(D) (A) 3T E, W (R) THE | 31. QESE HEOT § T UE TR
IRA ¥ s 3MHA & U9drq 3R
9 o B T B, o o P
29. Eaup , Th A) - ®) @
(A) 3R g&Y I 7 (R) 1 M G @ © T D) T
AR (A) @ 3 A TEE SR
T13Ti o for fafercarerd aam | 32. gl VRSl | oot & or 1 ¢ ?
T (R) : 8 FoAUER T I ST (A)  smeAfesh &t
AT TR T | (B) Tt &7
vl S e st A, e B (©) Tt
(D) =Ref &l
HIT AT E ?
(A) (A) 3R (R) 5Fi & € 3R (R), 33, frefafad & § 9 @ 7 @8 gt
(A) T TE LT E | T g ?
(B) (A) 3R (R) gHI T & W (TTHR) (T
(R), (A) % Fal T Tal & | (A) WW ~ T
(B) weH — TeHTerd
(C) (A)TFe, W< (R) ITHTE | © o
(D) (A) 3T E, W (R) A& | D) e e
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34. Which of the following statement is 38. Consider the following statements :
not true about Guru Nanak ? Assertion (A) : Temples gnd
(A) He repudiated belief in Mathas were prime

3s.

incarnation of God.
(B) He denied the validity of caste

instruments  for  political
purposes of the Vijayanagar.

system. Reason (R) : They enjoyed a
(C) He laid emphasis of moral moral  standing which no
virtues. Hindu Kingdom could ignore
) ) ) or oppose.
(D) I(;I.if did b recognizre d ba51(ci Select the correct answer from the
hj[uslrﬁﬁge etween Hindus an codes given below :

Which were the temples built by

Krishnadevaraya ?

(A) Vitthalaswami and Hazara
Ramaswami Temples

(B) Shri Ranganatha and
Brihadeshwara Temples

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

© &ﬁlr:kshilﬁﬁfigami and (D) (A) is false, but (R) is true.
(D) Vitthalaswami and 39. Who declared that the devotees of
Kailashnatha Temples Vishnu (Vithoba) “have no caste” ?
(A) Jnaneshwar (B) Eknath
36. Match List — I with List — II and (C) Chokhamela (D) Tukaram
Z?)lgg; gili/eencggliﬁ tzﬁésg sirs .from the 40. Which of the following works deal
List - I List - II g)“h nﬁ}[l;clzau whal
(Sanskrit works (Year in (i) Tuhfat-ul-Hind
translated which the ) Madh la Kamk dal
during Akbar’s work was (}11) K.a bavrﬁ? a namkamandala
reign) translated) (SIVI) 1It1a -e-Nauras . h
Singhasan @ 1575-76 elect the correct answer from the
@) Battisi codes given below :
(b) Atharva Veda (i) 1574-75 &des(‘i) @ i
C(dz1 M.ahabharata (iv) 1582-83 (©) (11) (111) (IV)
0 es(;l) ® © @ D) O @ @)
A) Gi) () Gi)  (iv) 41. Which one of the following is not a

B) @ ) (Gv) (i)
©) @v) (@) () (@)

correct association ?
(A) Henry Louis - Parthenon

D) Gi)) @ @) () Vivian
Derozio

37. Who was the most excellent in (B) RajaRam — Brahma
Portrait painting and drawing of mohan Roy Dharma (1850)
features ? (C) Dadoba — Dharma
(A) Miskina Pandurung Vivechan
(B) Ustad Mansur (1848)
(C) Basawan (D) Madame — Isis Unveiled
(D) Farrokh Beg Blavatsky (1877)
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34.

35.

36.

frfefad & & S |1 Fu 6 T9F

IR H TE AR E ?

(A) 3®H TR F YA:EAR oH H
Torvams 1 Te TR |

(B) 78I STIfeT T Shl S ohi eI |

(C) 378 e Ut W et 5

(D) 3= fega wd qHaaHl o g
ToTd TR i TR T |

FORE TF FRT D G TSI HHT A

™7

(A) fogoamdt wd &SR ERETH
A=z

(B) &t T TS JEReR AT
(C) BTN [T T ue Hi=redt Afe
(D) fager Tl el FHeArerTY Afe

gEa - I g — 1 &% 9 gaferd
FIoTT 3R A 5T Pl T Tl W B
T P
-1 T - 11
(TFRFIMET (AR BT )
A H SIS
el THTY)

(a) ToeTE st
(b) 3F¥deT
(c) THEOT
(d) HerRa
EEE

(@ (b)
A) (i) (@)
B @ D)
© Gv) (i)
D) Gi) (@)

(1) 1575-76
(1) 1574-75
(111) 1583-84
(iv) 1582-83

© (@
(i) (iv)
(iv) (i)
) @

(i)  (v)

37. TefofEd 5 @ S Ufasid ud et &
TersToT 7 3Teateeh F-guT o1 ?

(A) =R
(B) 3EE HWR
(C) wEEH
(D) wHE &
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38.

39.

40.

41.

fATeRad et W farar whifsTe

FIT (A) : TR F TS 29l
T I A o T g HiSR T
S |

RO (R) : 371 TS HAfqes MR o1
oo # ot feg w59 staRer
TET T FehelT T |

TR e ¥ el SR H =TI T :

%<

(A) (A) 3R (R) 3T @&t € @21 (A)
FI T A= (R) T |

(B) (A) R (R) T T &, ey (A)
%! Tel =gme (R) T e |

©) (A)FE, g (R) T e |

(D) (A) e &, fvqg (R) W€ |

e forert Wil e o Famy (Fediem) %

9ol ol “hIE S el & 2

(A) FHTR (B) THA™

(C) <rae (D) THERW

fffad § 9 & 9 e & faug
G ?

(i) =9 Hideat

(i) qewE-3A-e

(iii) TSI FTHFHSA

(iv) ferae-t-aRa

ffiad 2 H ¥ Fol W A 95T
It

%<

(A) @) ) (ii)

B) @ @) (@1v)

(©) Gi) (i) Gv)

D) @ G Gv)

frrtifera & & S 1 I W RferT @

g7

(A) eRIoRE fafeem - wifgem

EUSE

(B) TSMIMEEAIE  — STEIH
(1850)

(C) =TT gL — ol e
(1848)

(D) feA el - Ifad
AT,
(1877)




42.

43.

Which one of the following is not
true in relation to the Universities
Act of 1904 in British India ?

(A) Educated Indians supported it
as it was considered
democratic

(B) The number of elected Senate
members was reduced.

(C) The Government officials were
given powers to decide on
college affiliation and school
recognition.

(D) It emphasized on universities
becoming post-graduate
teaching centres.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R).

Assertion (A) : Mahatma Gandhi’s
struggle for Purna Swaraj was
started in 1930 with a pledge
taken throughout India
denouncing the British for
having “ruined India
economically, politically,
culturally and spiritually.”

Reason (R) : At the Madras
Congress in 1927, Jawaharlal
Nehru’s snap independence
resolution was passed.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.
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44.

45.

46.

A number of organized temple entry

movements took place in the early

20™ century and which one of the

following is not part of these

movements ?

(A) Vaikkam Satyagraha, 1924-25,
Kerala

(B) Munshiganj Kali  Temple
Satyagraha, 1929, Bengal

(C) Kalaram Temple Satyagraha,
1930-35, Nasik

(D) Balmikis and Mahar Temple
Entry, 1927, Punjab

Match List — I with List — II and
select the correct answer from the
codes given below the lists :

List -1 List - I1

(a) Dayanand (i) Nil-Darpan
Saraswathi (1860)

(b) Dinabandhu (ii) Scientific
Mitra Society (1864)

(c¢) G.G. (i11) Gaukarunanidhi
Agarkar (1881)

(d) Sir Sayyid (iv) Deccan
Ahmed Education
Khan Society

Codes :

@ @b © (@
A) @G a) @ Gv)
B) ) @Gv) G @)
© @) @@ av) )
D) @Gi) G @ (aGv)
In the history of architecture in

India, which one of the following is
a false association ?

(A) Brahadeshwar — Cholas
(Rajaraja)
temple in
Tanjore

(B) Mahabalipuram - Pallavas
(Mamallapuram)

(C) Konark Sun- — Western
temple Chalukyas

(D) Khajuraho — Chandellas
temple



42,

43.

T=ifera § 9 i 91 A i wRa |
1904 o fovafaaned Aa-ag & Ty
TG e € ?

(A) Terfera YR 3 9o T fhar

ik I& TSIk FH 74T |

(B) 9Fe & Mg asei o d@e
T FY I T |

(C) THF FHOIET Hl Pl &
GeE 3R Thel ol AT TR 01T
o % o SR i T o |

(D) TO4 fovafoame™i & SRR

AT g T W IR 5 |

9 < e 53 T €, U A e

(A) IR T 1 7 (R) &1 T4 g ¢ :

SMH (A) @ U7 @RS & ol HeTerT
T ST FES 1930 H FHOT 9RA H
AT T T o qrer W ga o
IEH YRd Wl A ' G,
ToHITTh €0 9, QEhias €7
3R MeATcHs &9 & q9E HH P
for Toifest mrs=r =t e - |

@h (R) : 1927 ©, T5T Hilg STeeem
T S 6% Sl dlchlieTe
L= TEdTel STRY fomar 7T |

SYIH 1 T o T F, it §

I T GE § ?

T

(A) (A) 3R (R) 3HI & € 3R (R),
(A) T TE TEFTE |

(B) (A) @R (R) T & & W
(R), (A) 1 Hel T F& ¢ |

(C) (A)TFE, R (R) ITAE |

(D) (A) s E, Rq (R) T T |

44.

45.

46.

el ITdTSal & TR | A< | Te9

fu g ot WA fed T,

fre=ifhd § & I A A M=l T

fewmT T § 2

(A) TFPH TAWE, 1924-25, XA

(B) YISt Shlett AR TeamiE, 1929,
I

(C) IR T JamE, 1930-35,

e
(D) afoHeh! Ta HeR A< uawT, 1927,
EEIC)

gar — I g — 11 % 9 goferd

F AR T T el T &l S H

T P
oG | T - 11

(a) IR (i) Hre-gaor (1860)
T

(b) Sy fm  (ii) TTsfefthen @

(1864)

(c) S (iii) THERBOTTAT
TR (1881)

(d) WIER (iv) ST USToheT
STEUT @H A

%<

(@ () (@ (@
(A) G @) @@ (@Gv)
B) @) Gv) @) @)
©) @) @ (Gv) (i)
D) G G @ Gv)

IR | AR o e |, FHiTehd o

T I 41 e gafera & 2

(A) TIRITFEIIR - =@
(JTSTRTSTT) AR

(B) WeTacAgRH — Uoetd
(ATHATH)

(C) ®AF I AR — e

Bl
(D) Tl iR — T
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47.

48.

Match List — I with List — II and
select the correct answer from the
codes given below :

List-1 List — 11
(Text) (Author)
(a) Jyotiba Phule (i) India Wins
Freedom
(b) Francis (i1)) The Indian
Robinson Struggle

(c) Subhas Bose  (iii) Separatism

Among Indian
Muslims

(d) Maulana Abul (iv) Ghulam-giri
Kalam Azad

Codes :

(@ ® @© (@
@A) G Gv) @O >
B) @Gv) @) aG) (@)
<© O @ G Gv)
D) Gv) @) () (@)

Identify the association which is
correct.

(A) The First — Rabindranath
Blow Tagore
(Kalighat
painting)

(B) Ghare-Baire - Nirbasan

Chandra
Ghosh

(C) Musaddas — Altaf Husain

(Urdu) Hali

(D) All of the above are correct

49.

50.

The culture in colonial India
underwent transformation under the
influence of reform associations and
intellectuals. Which one of the
following is not correct association ?

(A) National — Mahadev
Social Govind
Conference Ranade

(B) G.K. Gokhale Servants of

India Society
(C) Kandukuri — Rajahmundry
Veeresalingam Social Reform
association
(D) Maharaja of — Hindu Social
Banaras Reform
Association
The social and cultural reform

initiated by the non-Brahmin
movements had far reaching impact
on social change in modern India.
Which one of the associations given
below is wrong ?

(A) Tilak — Non-Brahmin
movement in

Kolhapur
(B) Mabhishyas — Jati Nirdharani
Sabha
(C) Narayana — Sri Narayana
Guru Dharma
Paripalana
Yogam
(D) E.V. — Self-Respect
Ramaswamy Movement
Naicker
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47. g — 1 gt — 11 & & gafad 49. 3UMAYE YRA H gUR AT 3R
FIoE SR A T Pl § FE SW H gfgsifeat & uwE ¥ Tepla § aieds
T hif arEr | feifeed & @ & W g g

T -1 TR - 11 Tt T E ?
(v1Eh) (TTh) (A) RAATMA - Terd T
(a) S () Hearfaw HT e
wreH (B) ¥ TEe - adeE o
(b) wifew Tfe= (i) ¥ fem fga qramEd
= HIGFN REE RN
C _
(c) g S (iii)@ﬁ%ﬁvﬁ © , "
=T feam
ey IR
(d) FEFT A (iv) TOE-AIR (D) WeRemaAe - feg e
FeATH SR TR Eeae)
¥z TEIEee
@ ) © @
A) @ ) O G 50. 3MYFF IR H TR-STEI0T <1 51T
B) Gv) @Gi) () @) TRT G 3R WRehias gER
© @O G Gi)  (@Gv) 3MYHF YR & THISTH TR T
(D) (v) (i) (i) @) SO g Wt | S e T g 6
I 91T & 2

48. T=fefEd & @ A a1 T& gafera & 2 (A) oot — TR H TR-

(A) FHwL = — e R TR =TT
(Preftere (B) wievarw — Tifer FreTRot wa
ISEEIR)

(C) AR TTE — ot AR ¥

(B) TSR — T T Y - g

C) TaEH _ THTF

© @) - T (D) T TEET — STCH-TE

TR =TT
(D) ST TR GEIE |
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